

On the Distribution of Zeros of Polynomials and Analytic Functions

Younseok Choo

Department of Electronic and Electrical Engineering
Hongik University
Sejong Chungnam, 339-701, Korea
yschoo@hongik.ac.kr

Copyright © 2013 Younseok Choo. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Abstract

This paper presents several results on the distribution of zeros of polynomials and analytic functions. The results of this paper include some existing ones as special cases.

Mathematics Subject Classification: 30C10, 30C15

Keywords: Polynomial; zero; Eneström-Keakeya theorem; Analytic function

1 Introduction

The Eneström-Keakeya theorem [7] given below is classical and well known in the theory of zero distribution of polynomials.

Theorem A. *Let $P(z) = \sum_{i=0}^n a_i z^i$ be an n th-order polynomial such that*

$$a_n \geq a_{n-1} \geq \cdots \geq a_1 \geq a_0 > 0.$$

Then all the zeros of $P(z)$ lie in the disk $|z| \leq 1$.

Many attempts have been made in the literature to generalize the Eneström-Keakeya theorem (see [1], [2], [3] and references cited therein). Among

them, Aziz and Mohammad [1] extended the Eneström-Kakeya theorem in the following way.

Theorem B. *Let $P(z) = \sum_{i=0}^n a_i z^i$ be an n th-order polynomial with positive real coefficients such that for some $t_1 > t_2 \geq 0$*

$$t_1 t_2 a_i + (t_1 - t_2) a_{i-1} - a_{i-2} \geq 0, \quad i = 1, 2, \dots, n+1,$$

where $a_i = 0$ if $i < 0$ or $i > n$. Then all the zeros of $P(z)$ lie in the disk $|z| \leq t_1$.

Theorem B reduces to the Eneström-Kakeya theorem if $t_1 = 1$ and $t_2 = 0$. Some extensions of Theorem B were made in [4], [5], [6]. Aziz and Zagar [2] relaxed the coefficient conditions in the Eneström-Kakeya theorem and obtained the following result.

Theorem C. *If $P(z) = \sum_{i=0}^n a_i z^i$ is an n th-order polynomial with positive real coefficients such that*

$$t^2 a_i \geq a_{i-2}, \quad i = 2, 3, \dots, n,$$

then $P(z)$ has all its zeros in the disk

$$\left| z + \frac{a_{n-1}}{a_n} \right| \leq t + \frac{a_{n-1}}{a_n}.$$

Aziz and Mohammad [1] also studied the zeros of analytic functions and proved the following theorem.

Theorem D. *Let $P(z) = \sum_{i=0}^{\infty} a_i z^i$ be analytic in $|z| < t$. If*

$$a_i > 0, \quad i = 0, 1, 2, \dots, \quad \text{and} \quad a_i - t a_{i+1} \geq 0, \quad i = 0, 1, 2, \dots,$$

then $P(z)$ does not vanish in the disk $|z| < t$.

The work of this paper was inspired by Theorems B and C. For example it is natural to ask what happens if the coefficient conditions of Theorems B are imposed respectively on the coefficients of even powers and odd powers of the variable as in Theorem C. Another interesting question is what happens if the coefficient conditions of Theorem B are satisfied for analytic functions. Some answers to such questions are given in the next section.

2 Theorems and proofs

Theorem 1. Let $P(z) = \sum_{i=0}^n a_i z^i$ be an n th-order polynomial with positive real coefficients such that for some $t_1 > t_2 \geq 0$

$$t_1 t_2 a_i + (t_1 - t_2) a_{i-2} - a_{i-4}, \quad i = 2, 3, \dots, n + 2,$$

where $a_i = 0$ if $i < 0$ or $i > n$. Then all the zeros of $P(z)$ lie in the disk

$$\left| z + \frac{a_{n-1}}{a_n} \right| \leq \sqrt{t_1} + \frac{a_{n-1}}{a_n}.$$

Proof. Consider a polynomial

$$\begin{aligned} \Phi(z) &= (t_2 + z^2)(t_1 - z^2)P(z) \\ &= \{t_1 t_2 + (t_1 - t_2)z^2 - z^4\}P(z) \\ &= -a_n z^{n+4} - a_{n-1} z^{n+3} + \phi(z), \end{aligned}$$

where

$$\begin{aligned} \phi(z) &= \{(t_1 - t_2)a_n - a_{n-2}\}z^{n+2} + \{(t_1 - t_2)a_{n-1} - a_{n-3}\}z^{n+1} \\ &+ \sum_{i=4}^n \{t_1 t_2 a_i + (t_1 - t_2)a_{i-2} - a_{i-4}\}z^i \\ &+ \{t_1 t_2 a_3 + (t_1 - t_2)a_1\}z^3 + \{t_1 t_2 a_2 + (t_1 - t_2)a_0\}z^2 \\ &+ t_1 t_2 a_1 z + t_1 t_2 a_0. \end{aligned}$$

If $|z| > \sqrt{t_1}$, then

$$\begin{aligned} |\phi(z)| &\leq |z|^{n+3} \left\{ \frac{(t_1 - t_2)a_n - a_{n-2}}{|z|} + \frac{(t_1 - t_2)a_{n-1} - a_{n-3}}{|z|^2} \right. \\ &+ \sum_{i=4}^n \frac{t_1 t_2 a_i + (t_1 - t_2)a_{i-2} - a_{i-4}}{z^{n+3-i}} \\ &+ \frac{t_1 t_2 a_3 + (t_1 - t_2)a_1}{|z|^n} + \frac{t_1 t_2 a_2 + (t_1 - t_2)a_0}{|z|^{n+1}} \\ &\left. + \frac{t_1 t_2 a_1}{|z|^{n+2}} + \frac{t_1 t_2 a_0}{|z|^{n+3}} \right\} \\ &\leq |z|^{n+3} \left\{ \frac{(t_1 - t_2)a_n - a_{n-2}}{\sqrt{t_1}} + \frac{(t_1 - t_2)a_{n-1} - a_{n-3}}{\sqrt{t_1}^2} \right. \\ &+ \sum_{i=4}^n \frac{t_1 t_2 a_i + (t_1 - t_2)a_{i-2} - a_{i-4}}{\sqrt{t_1}^{n+3-i}} \\ &+ \frac{t_1 t_2 a_3 + (t_1 - t_2)a_1}{\sqrt{t_1}^n} + \frac{t_1 t_2 a_2 + (t_1 - t_2)a_0}{\sqrt{t_1}^{n+1}} \\ &\left. + \frac{t_1 t_2 a_1}{\sqrt{t_1}^{n+2}} + \frac{t_1 t_2 a_0}{\sqrt{t_1}^{n+3}} \right\} \\ &= |z|^{n+3} (\sqrt{t_1} a_n + a_{n-1}). \end{aligned}$$

Then, for $|z| > \sqrt{t_1}$, we have

$$\begin{aligned} |\Phi(z)| &\geq |z|^{n+3}|a_n z + a_{n-1}| - |\phi(z)| \\ &\geq |z|^{n+3}\{|a_n z + a_{n-1}| - (\sqrt{t_1}a_n + a_{n-1})\} \\ &> 0, \end{aligned}$$

if

$$|a_n z + a_{n-1}| > \sqrt{t_1}a_n + a_{n-1}.$$

Hence all the zeros of $\Phi(z)$ with modulus greater than $\sqrt{t_1}$ lie in the disk

$$\left|z + \frac{a_{n-1}}{a_n}\right| \leq \sqrt{t_1} + \frac{a_{n-1}}{a_n}.$$

Since the zeros of $\Phi(z)$ with modulus less than or equal to $\sqrt{t_1}$ are already contained in the above disk, the proof is completed.

If $t_2 = 0$, Theorem 1 reduces to Theorem C.

Theorem 2. Let $P(z) = \sum_{i=0}^{\infty} a_i z^i$, where $a_i > 0$, $i = 0, 1, 2, \dots$. Suppose that for some $t_1 > t_2 \geq 0$

$$t_1 t_2 a_{i-2} + (t_1 - t_2)a_{i-1} - a_i \geq 0, \quad i = 1, 2, 3, \dots,$$

with $a_{-1} = 0$, and that $P(z)$ is analytic in $|z| < 1/t_1$. Then $P(z)$ does not vanish in the disk $|z| < 1/t_1$.

Proof. Consider a polynomial

$$\begin{aligned} \Phi(z) &= (1 + t_2 z)(1 - t_1 z)P(z) \\ &= \{1 - (t_1 - t_2)z - t_1 t_2 z^2\}P(z) \\ &= a_0 + \phi(z), \end{aligned}$$

where

$$\phi(z) = \{a_1 - (t_1 - t_2)a_0\}z + \sum_{i=2}^{\infty} \{a_i - (t_1 - t_2)a_{i-1} - t_1 t_2 a_{i-2}\}z^i.$$

If $|z| < 1/t_1$, then

$$\begin{aligned} |\phi(z)| &\leq |\{a_1 - (t_1 - t_2)a_0\}||z| + \sum_{i=2}^{\infty} |\{a_i - (t_1 - t_2)a_{i-1} - t_1 t_2 a_{i-2}\}||z|^i \\ &\leq \frac{(t_1 - t_2)a_0 - a_1}{t_1} + \sum_{i=2}^{\infty} \frac{t_1 t_2 a_{i-2} + (t_1 - t_2)a_{i-1} - a_i}{t_1^i} \\ &= a_0. \end{aligned}$$

Since $\phi(0) = 0$, it follows by Schwarz lemma that

$$|\phi(z)| \leq t_1 a_0 |z| \quad \text{for } |z| < 1/t_1.$$

Then, for $|z| < 1/t_1$

$$\begin{aligned} |\Phi(z)| &\geq a_0 - |\phi(z)| \\ &\geq a_0 - t_1 a_0 |z| \\ &> 0, \end{aligned}$$

if $|z| < 1/t_1$. Hence $\Phi(z)$ ($P(z)$ also) does not vanish in the disk $|z| < 1/t_1$, and the proof is completed.

If $t_2 = 0$, Theorem 2 reduces to Theorem D.

Theorem 3. Let $P(z) = \sum_{i=0}^{\infty} a_i z^i$ be analytic in $|z| < t_1$. If $a_i > 0$, $i = 0, 1, 2, \dots$, and if for some $t_1 \geq t_2 > 0$

$$a_i - (t_1 - t_2)a_{i+1} - t_1 t_2 a_{i+2} \geq 0, \quad i = 0, 1, 2, \dots,$$

then $P(z)$ does not vanish in the disk

$$\left| z - \frac{M^2 \alpha_0 \alpha_1}{1 - M^2 \alpha_1^2} \right| < \frac{M \alpha_0}{1 - M^2 \alpha_1^2},$$

where

$$\begin{aligned} \alpha_0 &= t_1 t_2 a_0, \\ \alpha_1 &= t_1 t_2 a_1 + (t_1 - t_2) a_0, \\ M &= \frac{1}{t_1 (a_0 + t_2 a_1)}. \end{aligned}$$

Proof. Consider a polynomial

$$\begin{aligned} \Phi(z) &= (t_2 + z)(t_1 - z)P(z) \\ &= \{t_1 t_2 + (t_1 - t_2)z - z^2\}P(z) \\ &= t_1 t_2 a_0 + \{t_1 t_2 a_1 + (t_1 - t_2)a_0\}z + \phi(z), \end{aligned}$$

where

$$\phi(z) = \sum_{i=2}^{\infty} \{t_1 t_2 a_i + (t_1 - t_2)a_{i-1} - a_i\} z^i.$$

If $|z| < t_1$, then

$$\begin{aligned} |\phi(z)| &\leq \sum_{i=2}^{\infty} |\{t_1 t_2 a_i + (t_1 - t_2)a_{i-1} - a_i\} z^i| \\ &\leq \sum_{i=2}^{\infty} \{a_{i-2} - (t_1 - t_2)a_{i-1} - t_1 t_2 a_i\} t_1^i \\ &= t_1^2 (a_0 + t_2 a_1). \end{aligned}$$

Since $\phi(0) = 0$, it follows by Schwarz lemma that

$$|\phi(z)| \leq t_1(a_0 + t_2 a_1)|z| \quad \text{for } |z| < t_1.$$

Then, for $|z| < t_1$

$$\begin{aligned} |\Phi(z)| &\geq |t_1 t_2 a_0 + \{t_1 t_2 a_1 + (t_1 - t_2)a_0\}z| - |\phi(z)| \\ &\geq |t_1 t_2 a_0 + \{t_1 t_2 a_1 + (t_1 - t_2)a_0\}z| - t_1(a_0 + t_2 a_1)|z| \\ &> 0, \end{aligned}$$

if

$$|z| < M|\alpha_0 + \alpha_1 z|,$$

where

$$\begin{aligned} \alpha_0 &= t_1 t_2 a_0, \\ \alpha_1 &= t_1 t_2 a_1 + (t_1 - t_2)a_0, \\ M &= \frac{1}{t_1(a_0 + t_2 a_1)}. \end{aligned}$$

It is easy to show that the region defined by

$$|z| < M|\alpha_0 + \alpha_1 z|,$$

is the disk

$$\left| z - \frac{M^2 \alpha_0 \alpha_1}{1 - M^2 \alpha_1^2} \right| < \frac{M \alpha_0}{1 - M^2 \alpha_1^2}.$$

Since t_1 and $-t_2$ are not contained in the above disk, the proof is completed.

Setting $t_1 = t_2$ in Theorem 3, we obtain the following corollary.

Corollary 4. *Let $P(z) = \sum_{i=0}^{\infty} a_i z^i$ be analytic in $|z| < t$. If*

$$a_i > 0, \quad i = 0, 1, 2, \dots, \quad \text{and} \quad a_i - t^2 a_{i+2} \geq 0, \quad i = 0, 1, 2, \dots,$$

then $P(z)$ does not vanish in the disk

$$\left| z - \frac{t^2 a_1}{a_0 + 2t a_1} \right| < \frac{t(a_0 + t a_1)}{a_0 + 2t a_1}.$$

Acknowledgments

This work was supported by 2013 Hongik University Research Fund.

References

- [1] A. Aziz and Q.G. Mohammad, On the zeros of a certain class of polynomials and related analytic functions, *J. Math. Anal. Appl.* **75** (1980) 495–502.
- [2] A. Aziz, B.A. Zargar, Some extensions of Eneström-Kakeya theorem, *Glasnik Matematički* **31** (1996) 239–244.
- [3] Y. Choo, Some results on the zeros of polynomials and related analytic functions, *Int. J. Math. Anal.* **5(35)** (2011) 1741–1760.
- [4] G. Singh and W.M. Shah, On the Eneström-Kakeya theorem, *Appl. Math.* **3** (2010) 555–560.
- [5] G. Singh and W.M. Shah, Certain generalizations of Eneström-Kakeya theorem, *J. Adv. Res. Appl. Math.* to appear.
- [6] N.A. Rather, S.A. Simnani and M.I. Mir, On the Eneström-Kakeya theorem, *Int. J. Pure Appl. Math.* **41(6)** (2007) 807–815.
- [7] M. Marden, Geometry of polynomials, Math. Surveys, No. 3; *Amer. Math. Society*, (R.I.: Providence) (1966).

Received: April 16, 2013